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FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elcat i
% o | s | | & | #REK 7 | ke || B | & [#EK

1 B 791 913|  911| 1,824 4 1 4 40 A H 261 348  346| 694

2| A (fE) 972| 1,157| 1,206| 2,363 44 IR 3 3 4 7

4 i e 511 534 539 1,073 45 JH/ | 114 100 83 183

5 Jbs e <F 347 467 443 910| 45| 45 45 48 k= 392 436 507 943

6 AH 241 390 355|745 49 RN 305 338|374 712

8| Al (fF) 346 380 411 791 50 LD H 370  394| 462 856

10 P 203 201 214| 415 52 [iE)7238 434 502 529 1,031

11 A H 53]  N\ENRE 450 446 542 988

14 _E 6 12 7 19 55 oo H 358  400| 443 843

15| BAEHISE 1,229 1,533| 1,620 3,153 56 R 258 271 321 592

16| FHERISE 1,001| 1,393| 1,444| 2,837 57 B i 168 195 205 400

17 W2 377| 385 450 835 58 —H 190 180 219 399

18 &7 R 318  410|  420[ 830 59 N 197| 224 245|469

19 SR A 17 19 21 40 60| TG A 17T B 218 234 236 470

20 A B 1,211 1,446| 1,394| 2,840 114 114 114 61| mE1TH 114 122 143| 265

22 FyhF 825  982| 1,087 2,069 62| wmHE2TH 153 184| 216 400

23 A 285 351 355 706 63| mHE3TH 198 207 238 445

24 HHN 887| 1,044| 1,116 2,160 64| mE4TH 72 90 87 177

25 VALl 65 /INRHHT 408 489 501 990

27 oKW IA 267 280 347 627 66| HrnH 187 222 232 454

29|  FEAGE 17 17 17 67 i) 109 132 153| 285

31 L 78 96 97 193 68| TG 27T B 220 257 273 530

33 pN:In 326 382 422 804 69 St R 147 179 210 389

38 FoYAN 156 195 172| 367

9| AN E 144 199 209 408 7t 15,881| 18,739| 19,809| 38,548| 163| 160 3| 163
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FEFRoR X FJEZR R
AR OB T AR I HUEHHE
H1 X A4 QLIRS H XA QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 497| 505|498 1,003| 14| 14 14 |391| #AF1TH 456|  495| 476 971
312| %2 TH 186| 223 225 448 392| 2T H 106| 112 107 219
321 ME1ITH 388  378|  390| 768 393 W31 H
329| fE2TH 659 669 703| 1,372 411 KRE1TH 372 405 429 834
323| ME3TH 440 492 487 979 412| KM2TH 364| 421 469 890
331 BAMI1TH 562|  531|  516| 1,047 30| 30 30{ |413] AM3TH 276  280| 279 559
332 BAHZ2TH 408  434| 457 891 414 A4 TH 410] 419|422 841
3331 PBHM3TH 4211 382| 409 791 431 WE/HTTT H 398  458| 492 950
334| BAH4TH 626 661 789| 1,450 439| WE/HT2T H 850  965| 1,069| 2,034
341 R#1TH 758  753|  773| 1,526 66| 66 66| | 440 kS 656  751|  788| 1,539
342| RMH2T H 294 357 350 707 3 3 3| | 451 EFWS1ITH 452 510 561| 1,071
343 R#3TH 401 473|483 956 452| EFIR2TH 261 257|317 574
344| R4 TH 292 299 350 649 461 —XCE1TH 819| 1,037 1,056 2,093
345 RK#5TH 389  399| 482| 881 462| —3XH&E2 T H 641 737  761| 1,498
351 KM1TH 922  888| 982| 1,870 4711 AHITH 46 53 66| 119
350 EM2TH 915  841| 965 1,806 472 AH2TH 208  270| 274 544
353 KM3TH 712|735  791| 1,526 9| 6| 3| 9| [473] S H3TH 175 223 227 450
361 RAE1T H 289 286 237 523| 86| 75| 11| 86| |474| S H4TH 307|  436| 468 904
362| HAHEZ2TH 398 454 471 925 475 AH5TH 269  330] 359| 689
370 b5 v < 577  641|  622| 1,263| 24| 24 1| 25
381] AH1TH 197 295 249 544
382 AH2TH 704| 1,018]  996| 2,014 = 18,394| 20,238| 21,176| 41,414| 232| 218| 15| 233
383 AH3TH 293  365| 331 696 N 34,275| 38,977| 40,985| 79,962| 395| 378 18| 396




